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* 1 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u®4u*+.--+u+1)

(i) Arc colorings

w- (1)

1
a7 = 0
1
ag = U2
—u
a3 = \—ud+u
—u? 41
ag = u?
ud
a; = u5 _ ’U,S +u
uwt—u?+1
a6 = _u4
—uS +ut -2t +1
alO = u6 _|_ u2
u® — 2u!3 + 6ult — 8u? 4+ 10u” — 8ud + 4ud — 2u
a4 = —ul® 4+l — 4yt + 30 —4u” + 20 — 2+ u
—ult 4 w2 — 410 4+ 308 — 4uS 20t — 202+ 1
a11 = \ —y16 4 241 — 6u!? + 8ul0 — 10ud + 8ub — 4u?* + 2u?
w3032 b w2 1
as = \ 30 —493* + ... — 18ub + 3u?

—u® 4+ 4u33 4+ - 4+ 18u® — 3u®
a2 = u? —3uP -+ ud

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u** +20u*? + .- —4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cg,CS8 u45+9u44_~_.“_u+1
cy
Ca, C7 uP et a1
€3 u®® 4 utt o 2l 1
C4,C5,C11 u45+u44_’__._+3u+1
C12
C10 ut® -1l + - —3u—3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg,CS8 y45+55y44++7y_1
Cg
o, C7 y45_9y44+'.._y_1
€3 Y -yt 191y — 1
C4,C5,C11 y45+51y44+_y_1
C12
C10 y45+3y44+-~~+507y—9




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.842523 + 0.5396121

1.63617 — 3.334101

—0.33334 + 4.443361

= 0.842523 — 0.5396127

1.63617 + 3.334101

—0.33334 — 4.443361

= —0.745790 + 0.6495141

—3.25288 + 2.398711

—2.89131 — 3.555641

= —0.745790 — 0.6495141

—3.25288 — 2.398711

—2.89131 + 3.555641

= —0.893450 + 0.5338061

0.35918 + 6.761031

—4.58151 — 10.244091

= —0.893450 — 0.5338061

0.35918 — 6.761031

—4.58151 + 10.244091

= 0.882706 + 0.3684411

—9.18323 — 0.528951

—10.64212 4 3.605511

= 0.882706 — 0.3684411

—9.18323 + 0.528951

—10.64212 — 3.605511

= 0.924753 + 0.5280451

—7.25615 — 8.994211

—7.47706 + 8.232161

= 0.924753 — 0.5280451

—7.25615 + 8.994211

—7.47706 — 8.232161

= —0.915632 + 0.0857311

—10.66890 + 4.298031

—13.41929 — 4.052091

= —0.915632 — 0.0857311

—10.66890 — 4.298031

—13.41929 + 4.052091

= —0.798279 + 0.4120421

—1.42195 + 1.489891

—9.20204 — 3.100311

= —0.798279 — 0.4120421

—1.42195 — 1.489891

—9.20204 + 3.100311

= 0.622618 + 0.607896.1

2.34985 — 1.001311

2.25214 4 3.751351

= 0.622618 — 0.6078961

2.34985 4 1.001311

2.25214 — 3.751351

= 0.860336 + 0.082675]

—2.96104 — 2.564131

—12.15035 + 6.370981

= 0.860336 — 0.0826751

—2.96104 + 2.564131

—12.15035 — 6.370981

= 0.500299 + 0.6768871

—5.89698 + 4.511991

—3.83830 — 2.276591

= 0.500299 — 0.6768871

—5.89698 — 4.511991

—3.83830 + 2.276591

= —0.545239 + 0.6404371

1.47015 — 2.352161

—0.76426 + 3.938361

—0.545239 — 0.6404371

1.47015 + 2.352161

—0.76426 — 3.938361

= —0.753905

—1.22216

—7.16390

= —0.913783 + 0.8491751

—2.09514 + 3.158741

—6.19428 — 2.571381

= —0.913783 — 0.8491751

—2.09514 — 3.158741

—6.19428 + 2.571381

0.923803 + 0.8778111

6.39657 — 3.248431

—4.00000 + 2.337881

= 0.923803 — 0.8778111

6.39657 + 3.248431

—4.00000 — 2.337881

—0.888807 4 0.9151631

2.17300 — 5.402001

—4.00000 + 2.078571

= —0.888807 — 0.9151631

2.17300 + 5.402001

—4.00000 — 2.078571

flg|e|g|g(g|g |z |g|e|g|g|g|g|g|g|e|g|g|g|g|g|g|g|g|e|g|g g |

0.897839 + 0.9107661

9.68761 + 2.813501

0. — 3.365691




Solutions to I} V—1(vol + /=1CS) Cusp shape
u= 0.897839 — 0.9107661 9.68761 — 2.813501 0.+ 3.365691
u = —0.908434 + 0.9053731 10.78900 + 1.097181 0. —2.475821
u = —0.908434 — 0.9053731 10.78900 — 1.097181 0.4 2.475821

uw=0.932398 4+ 0.8999407

5.98919 — 3.317371

—4.00000 + 2.408471

u=0.932398 — 0.8999407

5.98919 + 3.317371

—4.00000 — 2.408471

u = —0.951494 4 0.8841761 10.64970 + 5.504881 0

u = —0.951494 — 0.8841761 10.64970 — 5.504881 0

u= 0.961169 + 0.8797761 9.48304 — 9.417481 0.+ 8.046771
u= 0.961169 — 0.8797761 9.48304 + 9.417481 0. —8.046771
u = —0.968830 + 0.8758781 1.91452 + 12.006001 0. —6.725421
u = —0.968830 — 0.8758781 1.91452 — 12.006001 0.+ 6.725421

uw=0.192606 + 0.5582541

—7.18221 — 2.677751

—4.03487 4 2.637401

u= 0.192606 — 0.5582541

—7.18221 + 2.677751

—4.03487 — 2.637401

u = —0.134361 + 0.4227331

—0.031442 4 1.2144901

—0.60670 — 5.559271

u = —0.134361 — 0.4227331

—0.031442 — 1.2144901

—0.60670 + 5.559271




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Ce,Cg u45_|_9u44+..._u—|—1
C9
ca, 07 uf +utt o putl
c3 u®® +utt o 2lu 41
C4,C5,C11 u45_|_u44_~_._.+3u_|_1
C12
c1o u® = 11u* 4+ = 3u—3




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C6, C8 Yyt 455yt Ty — 1
Co
c2,C7 B gyt 4y —1
€3 y? -yt 1191y — 1
Cq,C5,C11 y45+51y44+~--—y—1
C12
c1o y* + 3y 4+ 50Ty — 9




